Pre-Calculus 12 Name

45 _ Inverse Relations Block

Consider the graph of y = %x + 1. Reflect the graph in the line y=x.

Label 3 different coordinates. Label 3 different coordinates/.
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Result {of coordinates):

The inverse equation is x = %y + 1. Solve the equation fory. Is the inverse a function? Jes

. |
Xm ! =] -5‘* if: ) N . » . , ~ [T
S I 20605 Y We wrile 4y as &? (X = -w’Q:}
- or w Y =3
Consider the graph of y = (x + 2)? Reflect the graph in the line y = x.
Label 3 differe%t coordinates, Labe; 3 differeqt coordinates.
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The inverse equatlon isx=(y+ 2)2 Solve the equation fory. Is the inverse a function? NG
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Determine 2 ways to restrict the domain of y = (x + 2)? to make the inverse a function.
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« For a funtion y = f(x), the graph x = f(y) is the image of the graph after reflection in the line
y=x.

o vy = f(x}and x = f(y) are inverses of each other.

* Apoint (x,y) ony = f(x) correspends to the point (y,x) on x = f(y).

e The domain of y = f(x) is the range of x = f(v) and the range of y = f(x) is the domain of
x = f(). ‘

o Ifx = f(y)isa function, f*(x) is used to denote the inverse function.

Example #1: Sketch a function, y = g(x), using 3 straight lines. On the same grid, also graph the inverse.
Label 3 points and state the domain and range of each. Is the inverse a function?
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F71(x), restricting the domain of the original function if needed.
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Homework: p. U # 4-12




